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1) ROFHEZELESL, (2R X10%)

1) Ax+1)Ax—1) 2 (x + 3 x+2)
3) (0. 5x+2)° 4) (3a—1)(3a+4)
5) (y—8)(y—2) 6) (2x+0. 3y)(2x—0. 4y)
7) (x—2y)(x+9y) 8) (3a+7)(2a—1)

9 ( 2p — % ) 2p + % ) 10) (3a+4b)(2a—7b)
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2) ROFEZELGED, 2R X108

D(a-2)a+3) 2) (x—4)3x+1)
3) (a—9)° 4) (2x+y)(2x+7y)
B) ( ox + 1) ix = 1) 6) (y+5)(y—9)
2 3 2 3
7) (0.5a—3b)(1. 1a+2b) 8) ( 3x — gy )

9) (2x—9)(2x—7) 10) (c+4d)’
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3) ROEHEZELGED, (2R X108

1) (0. 3x+0. 1)(0. 2x—0. 5) 2) (a—6b)(a+4b)

3) (] 3y ) 4 (a—-3y)a-1)
) ( 3X + 3y a 5 4
5) (a—7)(a+7) 6) (p—6q)°

7) (5x+0. 4)(5x+0. 6) 8) (3x—4)

9) (0. 2a—b)(0. 2a—5b) 10) (a+6)(a—6)
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4) ROFEZELGED, (2R X108

D Cx - 2)0sx + 1) 2) (4x+5y)(3x—8y)

3) (a+1.3)(a—0.9) 4) (5x + 2)(5x — )
5) (p+0. 6)° 6) (3x—4y)(2x+11y)
DCa+2)a+ i) 8) (4x+5y)(4x—7y)

9) (9¢—5d)(9¢c+5d) 10) (3p—8)(3p+2)
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1

DX+ 3)0x = 3) 2) (5x—4)(5x—6)

3) (4a—3b)° 4) (x—0.7)(x+0.7)

5) (3x + 2y )( 2x — 2y ) 6) (3x+2y)’

7) (a+5)(a+8) 8 (x + 2) x —2)

9) (0.3p+2)(0.3p—2) 10) (6x—y)(7x+2y)
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1) BE—f% (24 %108) 2 =
1) 16x°—1 2) x2+%x+§ 3) 0. 25x°+2x+4

4) 9a°+9a—4 5) y°—10y+16 6) 4x°—0. 2xy—0. 12y°

7) x°+7xy—18y° 8) 6a +11a—7

2 1
9) 4p 9
10) 6a°—13ab—28b"
2) NE—RE (25X 108) B B
1 a2—%5 2) 3x°—11x—4

3) a°—18a+81

4) 4x2+16xy+7y2 L

2 1 2
5) ZX —5 6) vy —4y—45

7) 0.55a°—2. 3ab—6b-  8) 9x2—4xy+gy2 9) 4x°—32x+63

10) ¢’ +8cd+16d

3) KE—M@E (2R X108 A B

1) 0.06x°—0. 13x—0.05 2) a-—2ab—24b> 3) %x2+2xy+9y2

2 47,21 2 2 2
4) a —%a+5 5) a —49 6) p —12pq+36q

7) 25x°+5x+0.24 8) 9x'—24x+16 9) 0. 04a’—1.2ab+5b"

10) a°—36
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4) KE—RRE (2% 108) A z
1) 5x —2x—1 2) 12x°—17xy—40y° 3) a +0. 4a—1.17
4) 25— 5) p +1.20a+0.36a 6) 6x +25xy—44y"
7) a2+%a+2—i 8) 16x2—8xy—35y2 9) 81c°—25d°

10) 9p°—18p—16

5) SE—RE (25X 108) B =
1 x2—11—6 2) 25x°—50x+24 3) 16a°—24ab+9b
4) x2—0. 49 5) %x2+%xy—%y2 6) 9x2+12xy+4y2

7) a°4+13a+40 8) xz—‘gx—g 9) 0.09p°—4

10) 42x2 +5xy—2y2



